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BRRUEKS HR  150m &#m 1058
B2 R AER ARIRE  24R 1205 (1[5:)
BREE 6 30 (154, f=FAL. /MR 1 &)
3 E%&
ARS8 BRizE
GifE EZE 1zE E%E
(LA-1] 2 7 2
(LA-2] 4 4 1
(A-3] 1 (B - 1] 9 2
(A-4) 2 T 1
(L A-5] 4 * 2
(LA-6] 3 7 1
(LA-7] 4 4 1
(L A-81] 1 ( B - 2] 7 1
(LA-9] 2 I 2
(L A-10] 4 * 2
CA-11] 2 7 2
LA-12] 3 4 1
(L A-13] 2 ( B - 3) 7 1
(A-14] 4 T 2
(L A-15] 3 * 1
(L A-16 ] 4 7 2
(A-17 ] 1 4 1
(L A-18] 2 ( B - 4] 7 2
(L A-19 ] 3 T 1
[ A- 20 ] 3 * 2
(LA-21] 1 7 2
(A-22] 1 4 4
( A- 23] 3 ( B - 5] ) 5
[ A- 24 ] 3 I 8
* 9
7 1
4 7
( B - 6] 7 8
T 9
* 10
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